The formula from the LAMMPS documentation
(See http://lammps.sandia.gov/doc/pair_eam.html):
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| am confused a little with it.
| think in your notation it should be like this:
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is a distance between atom |

where £ means type of I-atom, « is type of j-atom,

and |, ¢a,3 (I’ij )E ¢ﬂa (I’ij) is a pair-wise term of potential.

The target atom is marked as /3, source atom « .

For example of Fe and H, pyg, means electron density induced by H-atom to site on Fe-

atom.

In case of Fe-type of i -atom it should be used Fr,, Operes Puire -

Am | right thinking this way?

| think so because of the provided file format:

. density function rho(r) for element | at element 1 (Nr values)
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Thank you.

density function rho(r) for element | at element 2

density function rho(r) for element | at element Nelement



